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1. Ul WTE SIS Siushe HIWTR ST S SR LEST A et Sivem ' 3@
U 3 T “gengro yatju” 318 TEUGL. 9ol WY AR B T Jeel 4o i
et dd'"? o fauruarEt “Ern yatju gengro” ? 3 WUEK. FTET SHHM FHTR
“Ern gengro” (‘‘GaT ¥d"") f&al “Erm gangro yatju!” 1@ 9L
W gangro & YeRfa®  gengro = falidt g e W woe W feoe A
“Ern gangro yatju!” =1 ¥aia fea ¢ fae.

(1) YUIERE FiyEHH B, (2) 3iiTe AuHW B,

@) Tagu Fivem 99, (4) TG SHHH B

In ancient civilization, construction workers would say “gengro yatju” when wishing
other construction workers “beautiful building”. Upon the construction workers’ return,
the children would ask “Ern yatju gengro” ?, which meant “Was building beautiful” ?
The building workers would either reply “Ern gengro” (“Was beautiful building”) or
“Ern gangro yatju!”

If gangro symbolises the opposite of gengro, select the option that is most inappropriate
meaning of “Ern gangro yatju!”.

(1) was obnoxious building (2) was foul building

(3) was ugly building (4) was useful building

"

ot SATSiraET e w1 UUiteAT gereT TSt 1Y v A faurrde T S wad 92 a1 diea
frend
(a) SR U TN SNSiEre Hord! gt s avd fauH v 3w
(b) T SSEEA HOTE O Yo TS T UM EE IS
(c) T ST Yo Uil F 9 qid faum 7 S
- (d) T ATSiSE HORn WoiEl AIHT STHe qlEl AU ' S,

it 39T
(1) (b) 9rgA v v (2) (a) 5T T A
(3) wH (o) T @) () o (b) w

Select correct conclusion/s with respect to statement if direct or indirect relationship is
considered, “Rani’s grand-father’s son can be grand-father of Rani’s son.”

Conclusions :

(a) Statement is true only if Rani is daughter of that grand-father’s son.

{b) Statement is false even if Rani is daughter of that grand-father’s son.

(c) Statement is true even if that grand-father’s son is Rani’s paternal uncle.

(d) Statement is true even if that grand-father’s son is Rani’s maternal uncle.

Answer Options :

(1) All are true but {(b) (2) All are false but (a)

(3) Only (c) is true (4) Either (a) or (b) is true
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¢ &g AAT The News : A User’s Manual ( FI75T : STRUIEIST GRIGR#T) =0 Wﬁﬁmﬂﬁ
T @igd A YUEHRETAl IR ST Siaq HY 0l 31 1fdd AEUHSS S0 &
araEt YfAE AR TS ASIEE e WU WIS SeFa HoEU SO Sy
ST TS HIO GUTRRT ARl SES AR g TGTH q1 G 6 oo, 3l
T @ |15 TE, Pevade anda @y, anfor qodwad g 43 oma. ey
FeETE TS fTaR TN 9 et At w0 o 91 gEur =ve, yfae, Wk, sfaes
FfoT T WIS SITE] A Sl e ST qeEE! AR Bt sYge o
R e Hfod THgE gufae ST geraa GURon, STt o 1oyl =< st The
News & Twi& 9921 Fre .
e Fier Feuld e Taoe/ & favm/3 fae
(a) THeE@® FIOFT 1A, T Sigd A9 O Yikaear sevar qoive freeaett
?mmmmmmm,m,mmmmw
(b) % oS AN WA IS WS W F0 A1 A AR G HO @ A= e

TE.
(c) :ﬁﬁwaﬁm ATeY] ATATHH T IR TGS TEld & “The News’ 31 [&aahr= ¥q@ T2
(d) AT WE FOE W S e T @i Ao e den S

ftrheliad HeHd BV ATEH.
gt 39T :
(1) (d) femma uet . 2) (o) fomg wd .
(3) (b) forar wadt AL (4) (a) Torama uwdl .

Louis Bowden, a researcher, while reviewing De Botton’s The News : A User’s Manual

comments :

As per hypothesis put forward by De Botton, it is not the role of news to enrich our lives

or make them more fulfilling. Even the most ardent advocates of the fourth estate and the

most altruistic of news commentators would choke on their breakfast at the very suggestion.

These claims are the domain of self-help gurus, reality television competitions and

fundamentalist devotees. Whilst idealism isn't in itself a redundant thought experiment,

a manual of news media without a thorou gh exploration of the definition, role, limitations,

history and contemporary milieu of news just might be. Ultimately, despite some original

ic?_sights, The News suffers irredeemably from a lack of refinement, precision and meaningful
iscussion.

Select the statement/s that is/are not true with respect to the above comment.

(a) According to reviewer, De Botton’s idealism about the role of news is totally futile
thought experiment as there is a need to explore definition, role, limitations, etc. of
the ideal news.

(b) According to Louis Bowden role of news is not to enrich our lives or make them
more fulfilling.

() Major drawback of ‘The News’ is that it doesn’t provide bases for meaningful
discussion about the ideal news.

(d)  Altruistic news commentators also will not agree with De Botton’s ldea about role
of news in public life,

Answer Options :

1) None but (d) 2) None but Ec)
3) None but (b) 4) None but (a)
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4. DS ¥ T FHSH TIYEE WY THS T TSR @GS fawd Hewre sidw qiEed a1
e, A wadls, o W, AR 9 TS 3R, Fwer= yuIe o) TEHeiE fHeas
PEHSTA FHUA MW 3H o DRAGST Wb .
WWWWWWWWWMW
faet, _
(1) vafE S d 2) feoms () st fwew (4) @

Though not most pleasing form of wood to look at, quality plywood has become an
incredibly important building material. It is flexible, comparatively inexpensive, termite
resistant and durable. Its strength is due to layers of wood grains glued on the top of each
other, with the grains of each layer making a right angle with the grain of the layer below
it. This way of layering sheets of wood particles make plywood sturdy.

Select the quality of plywood that depends on its strength gained due to the peculiar
arrangement of wood grains glued together.

(1) ecofriendly (2) durable (3) termite resistant (4) cheaper

5. '9eA q qEE WA 98T A Ak 9e Wok . & T et v StEvid S a9) S,
ag ;
(@) BA Qg IFU 7 AW I
(b) EH o BT TYW 6 AR R N TS IFOWIET 1 A FH L,
(c) =4I TAE 3PV 9 TS I,
(d) =Fidh A gAE YO 11 AW 3, S FSA o 2Fich SHUTIEN 3 G| T 3R,
waidt W
(1) (@), (@) 2 @ © ®) (a) () 4 (), (d)

Identify two facts that prove conclusion, “London to Dubai is quicker than London to
New York.” to be always true.

Facts :
(a) A flight from London to Dubai is 7 hours.

{(b) The flight from New York to London is 6 hours, which is 1 hour less than return
flight.
(c) A flight from London to Dubai is 9 hours.

(d) A flight from Dubai to New York is 11 hours, which is 3 hours more than flight from
London to New York.

Answer Options :
1 (@ () 2 @ @© G) (a) () 4 (b))

THeAT HIWATS ST /SPACE FOR ROUGH WORK

P.T.O.



H13 6 A

6. et HEAE & WHATH Qe TE a2 TE € hE SR, YR 4.8 7 9§ 99 A
qU] 319 FREHA g3 TS ¢ ohIH O T’ 3ed o gE] TR,

TS fFaar gue FR F9H fAast
(1) TS S SR TgH =ed el RUH d SIHaH TSieR N HI0 E- VTR FLawd
& @A Hoo WA e TR,

(2) Tafay T AsHgA e 9 SFR D o fHeaa 3 wfassd st .

(3) wRdde agdF Hred e ¥ sritvaien srar, i Scisswar B S F F FHH HSF
.

(4) VRIS ST FFa= THI 90% 378 nfor sAg=ifid yred e EdE da
30 Vi T

India’s problem is not job shortage, but poverty. Unemployment rate of 4.8 is not the
problem, but the fact that our labour force is “working poor”.

Select the statement that weakens above argument.

(1)  Poor people cannot afford to remain unemployed and therefore they are self-employed
at subsistence wages and it is a self-exploitation.

(2} Poor and unemployed people are earning wages through various government
schemes and lead a dignified life.

(3) Most of the enterprises in India are informal, have low productivity, and consequently,
do not pay the lower wages.

(4) Informal employment in India is 90% and earning descent wages is not possible in
informal enterprises.

7. wfe fagrs Qgden SRG A9A e F0. U Toue HE T Ml Fo. e THdIa S
A i S, A TRET ST W Aean FH T T .
(1) (2) (3) e (4) W

Parmit collected more samples of seeds than Rose. Rose collected fewer samples than
Neel. Neel collected more samples than Parmit. Ruta collected more samples than Parmit
but fewer samples than Neel.

Select the option that indicates person who collected highest number of samples.

(1) Parmit (2) Ruta (3) Neel (4) Rose
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8. ien wesht 25 femiw 122 @ik anfon wedaht 20 forda 90 Wi T@HSIeaE® 6 = ASedra
FES SR IS ARG, HHUR TEHHS el Hed FUARIEt Sviidl oy L.
fornsd gu &R : 'S 9R 5 = fEe 400 Rl S R asm 65 R o @ R F W
A SO el deEeiel d 6 |l Tuer J9E Jiet e e 1 e
(T ¥ i TFaE S Hidl 450 ST e )

(1) 14 (2) 15 (3) 12 (4) 13

Nemi wants to move 122 boxes weighing 25 kg each and 90 boxes weighing 20 kg each,

from the ground floor to the store located on 6 floor of our office block. Due to heavy

rain no one is there to help him. The notice in the lift reads “MAXIMUM LOAD :
~ 5 persons or 400 kg.” If Nemi weighs 65 kg., then select the minimum number of journeys

he needs to make from ground floor to 6 floor for completing the job safely.
(Assume that volume is manageable in these journeys)

1) 14 (2 15 @) 12 4) 13

9. &, s, sfan, wfe, stfew, wfaar, giar snfon af adamr Taoem g Sean.
(a) e snfon stfean A A WERIEHER SRE.
(b) T ior Eran A A snior sifeEren IR TR
(c) afar & warem soeiehe e anfor sifaren QR R,
(d) wfea & sifearen st A snfor Wi € < S A,
SR Wfaen syfon grar 7t S AROEEe wead (Reds! Sivd f5um R ot ?
(1) &1 & FHfaare TEwS S S I,
) g & wfear=n Ewe S S SR
(3) Sl € wferarem wHR TR,
(4) wfaa € wfaaren IEFHS T R,
Sana, Deepa, Anita, Savita, Alia, Kavita, Sunita and Vanita are playing cards sitting around
a circular table.
(@) Anita is exactly facing Alia.
(b) Sana and Deepa is not neighbour of Anita and Alia.
(c) Vanita is right of Sana and neighbour of Anita.
(d) Kavita is not neighbour of Alia and Savita is not neighbour of Deepa.
Which of the following is false if Savita and Deepa interchange their paositions ?
(1) Deepa is immediate right to Kavita
(2) Sunita is immediate right to Savita
(3) Deepa is infront of Kavita
(4) Savita is immediate right te Kavita
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A IETETATA oG AR S sl S WIS € SRR A 1 WEUeta Tl it
BT {&d WA= 4/3 3R, 31 YEUe0aH 9gl SHai-! 96 Ward el 9 AS i o
Vo %o de1 S T R 1,536 @9 @, R I MEIHA TH AFNHS] SO a9
(1) 126 (2 128 (3) 120 (4) 114

The bus fare for two persons for travelling between two cities is four-thirds the train fare
between same places for one person. The total fare paid by six persons travelling by bus

and eight persons by train is ¥ 1,536 between these two cities. Select the number that tells
train fare required for one person between these cities.

1) 126 2) 128 (3) 120 (4) 114

11.

12.

faw gifss=a 5 =1 SrEE! 3fEa gfawr fAa=t

Select appropriate image for 5t place in the following image series.

e R g
g )—t*" @ )TL @ )ji. " .ﬁ—(

IEie faumran d@evld ara 54 fHast

(x+a) (x=b) (x+¢c) (x—d) (x+e)....... (x+y) (x—2)=7?
(1) axz ' 2) 26

(3) x¥126 a1 Tai® (4) w4

Select the correct option with respect to following statement.
(x+a) (x—b) (x+c) (x—d) (x+e)....... (x+y) (x—2)=7?
(1) axz (2) 26

(3) x to the power of 26 (4) Zero
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13. U Woa el Fdemn, Trehen, A, fasge stRamg niftn Teas area SRR W O] Hea IR
vaft Fordter T2 wAF 6 = feaen, fasye smER e T 5 o feawd, TR e e T4 el
Teasit, Trren e <X 3 =1 et snfor arreEm T2 X 2 < Rawh v daw. weren 180 fEawi=n
oyt ¥ T2 faawn Jo wE feadht vedie & g g3 faum fasn

(1) Feawe swar snft gwF 999 12 9 o & Sedie.

2 w3 Rkaw w T,

(3) e e, amtem ftT e areq T2 8 feaw Ty Wedie.
(4) &t Fritago anftr Teeen w2 10 feaw e Wedis.

In a school there are five hobby clubs and they are bird watching, painting, Lgardening,
film appreciation and book readm%h The bird watching group meets every 6™ day, film
appreciation group meets every 5% day, the book reading group meets every 4" day,
painting group meets every 3™ day, and gardening group meets every 2 day. Select the
false statement with respect to this information about these group meeting on the same
days during 180 school days.

(1) Film appreciation and book reading groups will be meeting together on 9 days.
(2)  All groups will be meeting on together 3 days.
(3)  Film appreciation, gardening and reading group will be meeting together on 8 days.

(4) Bird watching and painting groups will be meeting together on 10 days.
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unaﬁéaéammgeﬁvmaaqaﬁ;@s Afegeil, st sufn At svardts fafay wd a=h
SReATAR el Gied qu aeh e Aiags davarss fdan sve usien wiaw 7@n
FTHS Afvan o S Al 3uen a9 e et et W T w=EE YR
u@awaﬁhmwaﬁaﬁn@aﬁﬁmwmﬁaﬁﬁwﬁagm E Gl
YRE-SHH0 e afaganiie A a fadiet @ yrda-1Ts aes .= gaga wfam
SISO A7 ITEd B Jee1 3THd, Aaaws, foeian sufn st wgya 94 snf s € shergtee
SHSA AR A HE 2.

auifaa fauaD gata st addma edfe=a wwom v faEe
(1) < YA UigfaamE & JEifeaEE UiTa #d i A reearE 31 e,

() weitfammre Avame U TaE oM I9ad 38 Tdhel STEd el Tstie wiam
HESS AN WA .

(3) T vRAE GAfagrm 9 B G i, car ST i aaes Wia sraeen SvaiEt
fafriaret e -,

(4) WA gdlawitE 9 ggaeitE PR, S STEm e tfqeas s wuE
ITRN FA HEAT ST TS Gl TSSO Urevard! A TRl

India depicted gods and goddesses in the form of icons, sculpted Yakshis, Abhisariks and
many actions of daily life in detail but didn’t bother to record political history or images of

our kmg . There is no place for our kmgs on coins of that era. Despite ancient Indians
having excelled in metallurgy and in iconography, metal coins minted by them were
shamefully crude. When the Indo-Greek rulers like Demetrius and Menander in Bactria
on the Indo—Afghan border were minting coins with their life-like images imprinted on
them, our Ajatshatru, Bimbisara and even Chandragupta Mourya and Ashoka were issuing
crude punch marked coins.

Select the option that interprets underlined statements most logically.

(1)  Indians though excelled in metallurgy and iconography, lacked knowledge of minting
coins.

(2) Due to lack of knowledge of iconography, India did not use coins having images of
kings that could have been served as historical record.

(3) Though Indians excelled in iconography they did not use it to create coins with
king’s images.

(4) Indians did not use their skills of iconography and metallurgy for minting coins
with images of kings that could have served as impertant historical record.

oAl RIS ST /SPACE FOR ROUGH WORK
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15. T feden qfmam snare sfo Haid e TRREE SR Wiwa v Jiar T
A fael

IR G AT AR HUS FO R A A6 GURD. H qETEIATS qUe Fe T RO W
AR GURS e, TEoAT A T SR, TRV e i FARIS! H FE HS wies,

(1) SPFFEREE! T F° FS @ gl 97 oo, 9 Aeavara! W gH FR Fo 31
i ATy Team o, TEwA Seasad T 3. SR Al 36l @Y HHS q A
3™ 14 fee T,

2) R G aErn ge e 90 e /g 96 gERe. e wRE §a S @l
g o e gyne wust foe Qi 90 F@ s Tifes). weiEa of € W SYam Juen
favme Widags1 S0 8% 6.

(G) R TR THEEE §Y R FS W A TEE GURE. 1 W T Sedids! w6l wE
FOS T BIA W T YURSS A1, I S A Tieht wen o1 W[ ™d Sed 407
fresauamnet # frafa T Fe wfE.

(4) uftguiten Wit TaET e AR, SRS SV Hol Sakhid T Fie
qifest [ W IRANYEE TUE FO. FAH oIS Faoed] TWHd H HEHF 219N g St
@i ot SR R,

Study the argument given below and select the option that indicates argument with most
closely similar reasoning.

If you practice playing flute, your playing will get better. I have not practiced playing
tabla, so my playing has not got better. There is a competition next month. So I must
work hard to do well.

(1)  If you work hard at cycling you will get faster. 1have worked harder to get faster,
and I have started winning competitions. There is an examination next week. If I
want to pass it I must keep studying.

(2) If you practice regularly playing harmonium your playing will get better. Rasika
has not practiced much but her playing has got better so she must have worked
enough. She may even pass her Visharad examination latter this year.

(3)  If you work hard at singing you will become better. 1 have not worked hard at my
dancing skills, so | have not become better. I have an examination in next two
months’ time. So I must practice every day to get higher grades.

(4) Practice is necessary for achieving perfection. I have practice hard on my problem
solving skills so I should soon be perfect. I am participating in competition coming
up soon and I am surely going to win it.
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12

aeie AR FIUET FHETS S AR ?

(a) Feie T OIS T NS HTAA.
(b) &= QIS He AN Y FeoH HFam.
(c) TE= SHEl HIE T

qaidt I ;
(1) 3o Hfeavg fagerda a1 (2) o Tt av
3) fe = (4) TS HIvTIE AT

Which type of forests have the following characteristics ?

(a) The roots of the trees comes up from the marshy area.

(b)  The trunk of the trees have roots on its all sides.

(¢) The trees don’t have much height.

Answer Options :

(1) Tropical semi evergreen forest  (2) Moist deciduous forest

(3) Coastal forest (4) None of the above
. e e
g pPH 4
(@) FeA (i) 45755
(b) STTEHYH (i) 55965
(c) HIHRU 33 (i) 75965
d) W TS (iv) 65975
i I ;

(@ (b) () (d)
1) @ @G @) (@v)
(@) @@ () (@v) ()
(3) @) @v) (i) (i)
(4) Gv) (i) @) (@)
Match the following :

[

Soil pH value
(a) Neutral (i) 45to55
(b) Alkaline (i) 55to 65
(c) Slightly acid (i) 7.5 to 6.5

(d) Moderately acid (iv) 65to75
Answer Options :
@@ () () (d
1) (@) (@) (i) (@v)
2) (i) () (dv) (i)
3) (i) () @) ()
4)  (v) (@) D) @)
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18. T 2011 T TAUHTEHR WEILRIG A7 Shaed W9l 309 9.

(1) 35.14% (2) 45.23% (3) 50.68% (4) 60.32%

As per 2011 census percentage of urban population in Maharashtra is ___

1) 35.14% ) 45.23% (3) 50.68% (4) 60.32%

19. 1951 <A1 SFURYH HERISTAS Sehaerd g9al fadr g 2
(1) 104 (2) 164 (3 257 (4) 260
As per the 1951 census what was the density of population in Maharashtra ?

(1) 104 (2) 164 (3) 257 4) 260

20. ‘wOR e’ FEHAE SR Hrow a2
(1) R T <
(2) i<t FwEEafar aead
(3) O gt i s
(4) =eud
What was the objective of horticulture development ?
{1) To provide work to labour
(2) To increase profitability of agriculture
(3) Creation of natural resources

{4) All the above
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21, WEW e
faafafifdt weea e a6
(a) waE i 1962
(b) TR (i) 2002
(c) @I (i) 1952
(d) HSEE | (iv) 1991
qatdt 34y

(@ (b) (o) (d)
1y @@ @) @) (@)
(2) Gv) @) (@) @)
@) @) (i) (v) (i)
(4) (v) @) @ (i)
Match the following :

Hydel Power Project Starting Year
(a) Bhatsa (iy 1962
(b) Radhanagari (i) 2002
(c) Koyna (iii)) 1952
(d) Majalgao (iv) 1991

Answer Options :

(@ (b) () (d)
M @ G @) (@v)
(2) (v) @i @) ()
3) () () @Gv) (i)
(4) (v) (i) () (i)

22. o fSeearen vegreie fadt feoearen fam ama ?

(1) 03 (2) 04 (3 05 (4) 06
How many district boundaries are having to Latur district in Maharashtra ?
(1) 03 (2) 04 (3) 05 (4) 06

23, WAGIHE FURE Tar= T docd 9 fagyat w0 siget amed ?

(1) (2) His 3y (4) from
In which of the following river basin, Yeldari and Sidheshwar dams have been built ?
(1) Tapi (2) Manjara (3) Purna 4) Girna

e —
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24, IHEET, THES B WO HoreE g aRd ?

(1) =S (2) §EwW (3) (4) BlRED

In which district Ozarkhed, Palkhed dams are located ?

(1) Sangli (2) Satara (3) Pune (4) Nashik

25, TERTEW Tatd Giet 9 Wl Yhed FHIvr fasmit g« a1 ?
(1) fagesa () weTE (3) FYAE (4) @R
Where the largest solar energy project is functioning in Maharashtra ?

(1) Chikhaldara (2) Malegaon (3) Kalsubai (4) Sakkri

_—— —

26. YRAT T GYSA 3.4, 1887 <A1 HEW SEVER A w0 B ?
(1) . g qeaesi (2) i F AFe
(3) MIEFE MES (4) FEvEg A

Who was the President of Indian National Congress, 1887 held in Madras ?

(1) Barrister Badruddhin Tayybaji  (2) Dr. Anni Besant

(3) Gopal Krishna Gokhale (4) Umeshchandra Banerji
27. % 9O G- 999 SRS 6EE A,
(1) = T (2) T ATRE
(3) = <iwit (4) TH.UF. €&
was not the founder member of Sarvajanik Sabha of Pune.
(1) M.G. Ranade {(2) G.G. Agarkar
(3) G.V. Joshi (4) S.H. Sathe
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28. 1890W®d R 0 U 999 faeoiw we,
(1) wER MfER T (2) T AR et
(3) Tavamy aroam dedts (4) TS F TRES
. became Secretary of the Poona Sarvajanik Sabha in 1890.

(1) Mahadev Govind Ranade (2) Ganesh Vasudev Joshi
(3) Vishvanath Narayan Mandlik  (4) Gopal Krishna Gokhale

—— ——ee e . —

29. e S
(@) wgH () WRdrE AT AN TEeiy
(b) feom a1 (i) wRdrE T T afEa

(c) TS FoT i (iii) WRAHE U w99 sfaliea wyaq wfea
(d) ST STt @ (iv) WRAE TS 99 gaaeade Taew aafusr

(@ (b) (o) (9
1 @ @ G @)
(2) () @) () @)
@) G @(v) @ (i)
@) @) @@ (v) (i)
Match the following :

(a) Hume (i)  General Secretary of the Indian National Congress

(b) Dinshaw Wacha (ii) Secretary of the Indian National Congress

(c) Gopal Krishna Gokhale (iii) Additional Joint Secretary of the Indian National
Congress

(d) Daji Abaji Khare {iv) Successor of Gokhale in the Secretariat of the

Indian National Congress
Answer Options :
(@ () () (d
1) @ @ @) (iv)
(2) (Gv) (i) @Gi) ()
@) Gy @v) @ (i)
4) (@) @ (v) (i)

—

FHoAT FAAE AT /SPACE FOR ROUGH WORK
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30. FHITRIYLA W TERSHT S, ALAT STaeHTn _ WA Ho o,
) ‘efeE |9y’ = yEEEEE
(2) ‘T TS
(3) W A RN
(4) ‘afesga YRA" =H1 GHRHETHIS
Shahu Maharaj of Kolhapur had helped Dr. B.R. Ambedkar :
(1)  For the publication of “Harijan Bandu”
(2) For the publication of “Swarajya”
(3) For the publication of “Mook Nayak” .
(4) For the publication of “Bahiskrut Bharat”

31. Fx @ vEEd, e e, 3t IO seEYe oMifawEE gFe| R
FH. _
(1)  TI. ERE () MF. TES
(3) T SRR (4 [T
Native General Library, Female High School, Western India Industrial Association were
started by _
(1) R.G. Bhandarkar 2) GK. Gokhale
(3) G.G. Agarkar (4) M.G. Ranade

32, v TS TR T aete Sl e A 2

(a) ®I TS (b) . W

(c) “EwTsh AEar] (d) @7 feon

qgiet 3T

(1) T (a) @ @@ @) ©@3fd @ @ )
Who from the following had established Indian Social Conference ?

(a) M.G. Ranade (b) M.K. Gandhi

(c) Beheramji Malbari (d) B.G. Tilak

Answer Options :

(1) (a) only (2) (a) and (¢) (3) (0) and (d) (4) (a) and (d)

—

FEAT HIUETS AT /SPACE FOR ROUGH WORK

P.T.O.

e e il



H13 18

33, Srew@ omEn.
(a) THIETE THS () S qEw go
(b) TR ¥ (i) o AiEen TuR
(c) dfear vamg (i) feie som fiwm
(d) e e (iv) TEg ofes 9w wom
a3

(@ () (o (d
(1) (v) (i) () ()
(2)  (v) () @) (i)
(3) () Gv) @ (D)
4) @ @) @@ (iv)
Match the following :

—

(a) Ramabai Ranade (i)  Stri Purush Tulna

(b) Janakka Shinde (ii) Arya Mahila Samaj

(c) Pandita Ramabai (iii) Depressed Class Mission
(d) Tarabai Shinde (iv) Hindu Ladies Social Club

Answer Options :

@ (b} (© @
(1) (v) (@) (i) @
) Gv) (@) (D) (i)
(3) @) (v) @ (i)
@ @) G) @) (i)

34, O fezwil B ufieo 1916 @ quamey <t T S
(1) THEH (2) THFRT TR HEE
(3) wANT Hod 4) s fom
Lokmanya Tilak founded ___ at Pune on 23" April 1916.
(1) Prabhakar (2) Deccan Education Society
(3) Fergusson College (4) Home Rule League

oAl FHWTS 9 /SPACE FOR ROUGH WORK
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35. ' wgwre fig gua’ @ T T+l fedte.
(1) o wEFSS (2) ifea wERE
(3) THER sFieEEF (4) oL IS
The book ‘The High-Caste Hindu Woman' was written by
(1) Lady Falkland (2) Pandita Ramabai
(3) Ramabai Ambedkar (4) Lady Wellington

36. T AU Toiaz Hifyd Fodrs WOeus! I STavdsh IR gidme 31 e ?
() T faus wid fagsi
(b) U= faum qftwes fagsis
() TS wat ufteest wEegd
T e qarga Qe S A
1) (b () @ @ © 3) (@) {b) #® () ®) ()

Which of the following are not necessarily the consequences of the proclamation of the
President’s rule in a State ?

(@) Dissolution of the State Legislative Assembly
(b) Dissolution of the State Legislative Council
(¢) Dismiss of the Council of Ministers in the State

Choose correct answer using the code given below.

(1) () (@) @2 @ © G) (@ (b) @ (@ (b) (©

37. TS fSee <A =iy sovsga e 2am ?
(1) 9 AEEIR Y& 2 2) TS

(3) Toam wfwEes (4) T WA
District Judges in a State are appointed by whom ?
(1)  Chief Justice of High Court (2) Governor

(3) Council of Ministers of the State (4) Advocate General of State

oAl HIETAS W /SPACE FOR ROUGH WORK
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38. WRAIE (A=A IVl SSSSAR Haid <RI W&o ARy e qafd=m wioarm
fuer R 2

(1) 3T=T 137 (2) =% 143 (3) =T 136 (4) =% 138

Under which article of Indian Constitution, the Supreme Court having the power to review
its own judgements and orders ?

(1)  Article 137 (2) Article 143 (3)  Article 136 (4)  Article 138

39. T RO ARy ad aeEd Sres o

HTHT TR
(a) 39A () ST AR HHE T
(b) 40 (i) TTRERIETE §AE " Hfea
(c) 43A (i) @9 9 q FEfTTIE AHd FeEA
(d) 44 (iv) IWHIEEdE dEeA
qatdt 9T

(@ ®) ( ()
1 @ 6@ () (v)
(2) (@) (@v) (@ @)
@) (D) @) (v) (i)
4) (v) (i) @) ()
Match the pairs regarding Directive Principles of State Policy :

Article Provision
(@) 39A (i)  Participation of workers in management of industries
(b)y 40 (i) Uniform civil code for the citizens
(c) 43A (iii) Equal justice and free legal aid
(d) 44 (iv) Organisation of Village Panchayats

Answer Options :

(@ () () (d
1 O G (D) @)
(2 () Gv) @) ()
3 (@) @ (v) (1)
4 (v) @) (@) @

AT FHIMES AT /SPACE FOR ROUGH WORK
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40. IRGR® Hale rned St 3= AMeY Fieal Rwred] AfHHR SAHeHid WeAeTeh! Hiod
faum sew o ?
(1) wEl= e %o YOVd FIheAl HHETEviaE e U g FROTEEE e Fig
VA G 3 AEH e YOVT Tahio FASATAvIG! el g, I

(2) = e FRYRE SR Fig WA a8 Hal= Fraed FudmeE e F1g ¥ TR,

(3) S A Hdw AT Tl S g Wehd T S TR GHHR I HATASS
¥z o TWE IE A W Fig Whar.

(4) FH AEOA Fo@ TOUE TR SAGAEUIEG! A T G FROTHGE AR F1G,

Which of the following statements is correct about the difference between the writ

jurisdiction of the Supreme Court and High Courts in India ?

(1) The Supreme Court can issue writs not only for the purpose of inforcement of
Fundamental Rights but also for any other purpose, whereas High Courts can issue
writs only for the purpose of inforcement of Fundamental Rights.

(2) High Courts can issue the writ of Injunction whereas the Supreme Court cannot
issue the writ of Injunction.

(3) The Supreme Court can issue writs only in the case of appeal, whereas High Courts
can issue writs only when the party directly approaches it.

(4) High Courts can issue writs not only for the purpose of inforcement of Fundamental
Rights but also for any other purpose, whereas the Supreme Court will issue writs
only for the purpose of Inforcement of Fundamental Rights.

41. 1976 = 42 =7 HeAIGERI SfafTaREEG QoAetH! S faun JEe AR 7
(1) TEAFEHE FF THNER 3§ gHAREY § 39 T6H1 U SSvar 3.
(2) wfmEerEr ool TLIAER FUTRRE F0I .
(3) I e S I A A FEema aft nivca Fevars Sfusr &
HEifed FoamE 3.
(4) v iy T faurasial SHFS 5 qUEEd 6 TUTHq Sefavar 3.

Which one of the following statements regarding the 42°¢ Amendment Act of 1976 is
incorrect ?

(1) Added only two new words i.e. socialist and secular in the Preamble,
(2) Made the President bound by the advise of the Cabinet.

(3) Curtailed the power of judicial review and writ jurisdiction of the Supreme Court
and High Courts.

(4) Raised the tenure of Lok Sabha and State Legislative Assemblies from 5 to 6 years.

AT HINEIS! SR /SPACE FOR ROUGH WORK
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42. GODBYH FR fauH/ e AR/F 2

(a) YRGS GRS STl AR (HIH)WHE HIEAT qgHd §6E v,

(b) HHSS TSATEAT R QAR HIOASNG Tt fafurgaars §odt snavas s

(c) HIUTHR T Ty TR Hefie ﬁﬁwm&qﬁ:wwm
o smevEE st

(d) TS AW R wevarge i fatasmre freRe s U T Sfhw

At I

1) (a) B 2 © @D @) (®) (@ (d) @) (@ @©

Which of the following statement/s is/are correct ?

(@) The territory of the units of the Indian Federation may be altered by the Parliament
by a simple majority.

(b) The consent of a State Legislature is necessary before the Parliament redistributes its
territory.

(c) The President’s recommendation is necessary for introducing in the Parliament a
Bill on redistributing territory of any state.

(d) The President must receive the state’s opinion before recommending a Bill on altering
the name of the state.

Answer Options :

(1)  (a) only 2) (9 (d 3)  (b) () (d) 4) @ (©

43. @ faum faem =i .

(a) ITEHEfT TgdiHEd sy B fafaveed SeEeR s

(b) THIT YGHIG T WA & TS SEIS 37 vhal.

() eaag Tgdia Ay & AET WE .

(d) YRER® GEEE dgdid Teadl 1 Gt vEd WHE 3.

FUBTRT T fTuA I s17ed ?

1) (a), (b) 2 () (o) (D) 3 (@) (@ 4y (), (©

Consider the following statements :

(a) In Presidential system, the President is accountable to the legislature.

(b) In Parliamentary system, the head of the state may be monarch.

() In Presidential system, the President is the head of the government.

(d) In Parliamentary system in India, the President is the real head of the government.
Which of the statements given above are correct ?

1) (@b (2)  (®) (©) (d) 3) (@, () 4 () (©

HEAT THHTS AN /SPACE FOR ROUGH WORK
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44. g faum Al
(@) TARYH ¥ HR-Ted U A ST
(b) §d T Tl ¥ Hr-Td Yo Tee 7w,
(€) VIREg HiFuFR S=RT 273 ¥ AH-Tw TRuey Haftd e,

Tt 3=
(1) ™= (a), (b) (2) P (a), (c)
(3) ¥ (b), (0 (4) 0o wd

Select the correct statements :

(a) The Prime Minister is the Chairman of the Inter-State Council.

(b) Chief Ministers of all states are members of the Inter-State Council.

(c) Article 273 of Indian Constitution is related to the Inter-State Council.
Answer Options :

(1) Only (a), (b) (2 Only (a), (©)

(3) Only (b), () (4) All of the above

45. WHIH B AU et IR ?

(1) @SFIUIET 96 (Right to Privacy) 81 Sifaa & Safsa w@asarn sfaviy 1 3R,

(2) WISHIYUTE Bk B oA T .

(3) TR vmi @I (1954) N0 e 5 @een (1962) amed Hars <maear e few
BT, GISHIIUTET T & Yoy 9 el

(4) =S THE T

Which one of the following statement is incorrect ?

(1) Right to Privacy is an integral part of Right to Life and Personal Liberty.

(2) Right to Privacy is a Fundamental Right.

(3) In MP Sharma case (1954) and Kharak Singh case (1962) the Supreme Court ruled
that Right to Privacy was not a Fundamental Right.

{(4) None of the above.

FeAT HIAEES W /SPACE FOR ROUGH WORK
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46. WA T HhdE AR T WS HEGA AT HIoh TR 909 %9 ol
(a) &3 widey srfuf4ay
(b) refaamE Sfaay FE
(c) Hifas =eqe (Wfaa) e
(d) R o WA b
et 39T
(1) (o), @), (b), (d) {2)  (b), (d), (e} (a)
(3} (a), (b), (d), (c) 4) (d), (@), (b), (©
é‘\erlr:;ge chronologically the enactment years of the following Acts by using codes given
(@) Dowry Prohibition Act.
(b) Child Marriage Restraint Act,
(¢) Immoral Traffic (Prevention) Act.
(d) Protection of Civil Rights Act.
Answer Options :
(1) (c), (a), (b, (d) (2)  (b), (d), (o), (a)
() (@) (b), (d), () 4) (), @), (b), ()
47. ‘i vfafadh (wiaay) sfafaam, 19677 <t wowdt FAgE wfaafud gevdae geei

TGS HTd ?
(1) dfee s (2) THO ST
3) Towdt sty @) T TR

Which schedule of “The Unlawful Activities (Prevention) Act, 1967 provides the list of
banned “Terrorist organisation” ?

{1)  The First Schedule (2) The Second Schedule
(3) The Third Schedule (4) None of the above

ol HIATETS AT /SPACE FOR ROUGH WORK
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48, RGN o9 2= S0 TS YaF A g fasfavard it 39 7 snfds
e Frorem whifiadia & TR IS T3 A g S0 € e S o
(1) 239 (2) 39-A @) 51 " (4) 51-A

It shall be the function of the state under Article of the Indian Constitution to
ensure that opportunities for securing justice are not denied to any citizen by reason of
economic or other disability.

(1) 39 2) 39-A (3) 51 @) 51-A

49, Frqyfea st sufor sl S (TErERE frawre) sifufEE, 1989 =0 HoR Fodiard
i =maTEarE wOE F o ?
(1) 14 @ 17 (3) 21(1) (4) 21(3)

Under Scheduled Caste/Scheduled Tribes (Prevention of Atrocities) Act, 1989 in which
section there is a provision for arrangement of special court ?

(1) 14 2 17 3) 21(1) (4) 21(3)
50. e sifveR @1 govm sifusr =R a0 et JuAT .

(1) 2002 (2) 2005 3) 2009 (4) 2010

The Right to Education is given as Fundamental Right in the year

(1) 2002 (2) 2005 (3) 2009 (4) 2010

51. uEffe dEwm FE JvgEeEE o @ YRR YfEue (FE) sfufam, 2018 mie
HIUTT HOHN Feifea T ?

(1) Fo° 7A () FoU8(1)
(3) FTH 9(1) (4) FSUET AR

Offence relating to bribing of a public servant is pertaints to which section of the Prevention
of Corruption (Amendment) Act, 2018 ?

(1) Section 7A (2) Section 8(1)
(3) Section 9(1) | (4) None of the above

Foedl HITTHIE S /SPACE FOR ROUGH WORK
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ATYfEd St 9 SO (SRS wfaay) R, 1989 2 ®ed 2(1)(e) 3y fav awd
sfvrdi’ g 2, __ "9 seofgoe favm s stfvdaa fan sifyasa wv@
fidw Foen vt sfvEiEa s/ e,

(1) o915 () %913 3) FoW 16 (4) 9 14

According to Section 2(1)(e) of S.C. and S.T. (Prevention of Atrocities) Act, 1989, ‘Special
Public Prosecutor’ means a Public Prosecutor specified as a Special Public Prosecutor or
an advocate referred to in

(1) Section 15 (2) Section 13 (3) Section 16 (4) Section 14

53. WHE-q@R fausl Aiferen sEadt @eiedst 2018 et St ** swfa dfaded g
A FHIA I 37 ?
(1) 3ifas wo-FEa 2 fre ws fawm
(3) R 9o @) T AR
Amongst the following, who has been honoured with “American President Award” in
the year 2018 for campaign against human trafficking ?
(1) Ambika Patel - Luies (2) Minal Patel Davis
(3) Kamini Patel - Luies (4) Elda D'Mello
54. WS gFHE WEHT SNUTEE(E TeEql SR TOR AR YRET GURHH i

AAFAELES G WL e A 8 it Giee I AFaf s FEdaa Pih
FS?

1) o faus 9@ (2) RS SHANE TR
() < fSaus e 4) o foe <o

UN Chief, Antonio Guterres has lauded which of the following Human Right Activist for
role played by Indian reformer and in shaping the landmark documents on Universal
Declaration of Human Rights ?

(1) Pushpa Jivraj Bhave (2) Charushila Amrutbhai Sadavarte
(3) Hansa Jivraj Mehta (4) Pushpa Vinod Deshpande

ool HIHTETSE 9T /SPACE FOR ROUGH WORK
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55. T ¥ WO HE), 1955 S FoH TR * Sgeal’ FER e Ao
1) 16 2) 16-A @) 15 @) 15-A

Under Section of the Protection of Civil Rights Act, 1955 it shall be the duty
of the State Government to ensure that the rights occuring from the abolition of
‘untouchability’ may be availed of by the concerned persons.

1) 16 () 16-A @) 15 4) 15-A

56, ST WG FEeE W Hafya e,
(1) HY=T Hay=n e
(2) F& Herf=r wae faer gers faar dddfan sE

(3) iy faarei wiadrel drefauEh=T wre

(4) FAHAMYEHERY IeoH Heqr FLIa Haal

International Humanitarian Law relates to

(1) Laws of sea

(2) Laws of war or Law of armed conflict

(3) Laws of peaceful settlement of International Dispute

(4) Law of Intervention in case of violation of Human Rights

57. 9Rd @SSt 9T YIiER 3R,
(a) AP 0T TSI SR STTAE FIR.
(b) enfeie, Trnfas onfo witnfas sifymrE TR FIRK

i I
(1) ™ (a) (2) T (b)
(3) (a) =0fU (b) = (4) whotE T

Among following, India is a party to the :

(a) International covenant on civil and political rights.

(b) International covenant on economic, social and cultural rights.
Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b} (4) None of the above
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58. ‘UHAE! sevivee’ = e T F.
(1) die 9= FiF 99 1961 79} (2) e AT A §F 1961 TR
(3) OREF TR I T 1961 9 (4)  SUUSA Ui HoiEr @
‘Amnesty International’ was founded by
(1) Peter Jonson in i961 (2) Peter Benenson in 1961
(3) Larsen Amnest in 1961 (4) None of the above
59. IYqfad It 7 sgiaa S (STERE giaaY) sfufm, 1989 feAis it
HUST AT,
(1) 17 F<a 1989 (2) 30 SEERE 1990
(3) 29 @R 1990 (4) 12 <R 1989
The Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act, 1989 came
into force from :
(1) 17* September 1989 (2) 30t January 1990
(3) 29t November 1990 (4) 12th September 1989
60. T3 Wiays FA, 1961 FO 2 Fad T2 Foon | HiegaW axq | A 394 R €3 faum,

1860 A® YIIHTOE 3TR.

(1) @oH 32 (2) ®OH 45 (3) ow 38 (4) =oH 30

The expression ‘valuable security’ which defined under section 2 of Dowry Prohibition
Act, 1961 has the same meaning as in of the Indian Penal Code, 1860.

(1) Section 32 (2) Section 45 (3) Section 38 (4) Section 30

HeAT HVHE AR /SPACE FOR ROUGH WORK




A 29 H13

61. g Frem Jo
e foia
(a) HEA TN TERR o, Ay i) TR S fag FAE A
ARG 31,
() st fa. d5mE wWER (ii) TS HEL 20 T TAHI IO ST
(c) . MeH fa. TS TER (iii) e YroTsTe AnTeR |

(d) TET. TRoH fq. TN TR (iv) gfHeRIe gfife TRmwE TopdeTs e
&t ST,

wafet 3 :

(@ b () (d)
() @ @) §Gv) (i)
(2 @) @Gv) @) ()
@) ) @) @ @)
(4) () @Gv) @ (@)
Match the pairs :

Case Laws Decision
(a) State of M.P, v/s. Babunath (i) Burden to prove general
exception lies on accused
(b) Bacchan Singh v/s. State of Punjab (i) Life imprisonment is to be
' reckoned as equivalent to
20 years
(¢) G.N. Godse v/s. State of Maharashtra (iii) Guidelines for sentencing policy

(d) S.N. Bhadolkar v/s. State of Maharashira  (iv) Capital punishment only in
rarest of rare cases

Answer Options :
@ ® () @
1) O @) @) @
(@ @) @) @) @
)
)

—

@) ) i) @) ()
@ @ ) @ @
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62. WISIF FIURE e TrorarE! FEAIYR Hded TE ?
(a) U@ TéiTe i gran 5o,
(b) Brehiq a0 SIS YT oavy.
(c) wroFReA faefen drrer <u,
gt 3
(1) = (a) @ () (3) T ()M (4) T ()
Which one of the following is/are not legal duties of polire ?
{(a) to take charge of intoxicated person
{b) to avert any danger to public
(¢) to contribute in child welfare fund
Answer Options :
(1) Only (a) {2) Only (¢) (3) Both (a) and (c) (4) Only (b)
63. WERTE Wiotg sfuftas, 1951 vt wew 7 AR iy geeas
SRF FHTATE TR 38,
{1y 10 {2) 10A (3) 11 4) 12
Section of the Maharashtra Police Act, 1951 provides for appointment of
Assistant Commissioner within Jurisdiction of Commissioners.
1 10 {2) 10A 3y 11 4) 12
64. WHSI! BN FUF/T ek AT/ ?
(a) IS AfmrAe FodT ey @ 99 R 9 FE H@ie Modd g
(b) Frdea dang srfusrl emr=n o favtaifreriargR Sfed e sia e
(c) sl S sfuam afts sAfasri=n sl s,
it 3w
(1) W= (b) (2) ()
(3) T (a) MV () (4) al@UH HITTE! TR

Which cne of the following statement/s is/are incorrect ?

{a) If a Police Officer is suspended, his powers and functions are also suspended.
{b) A suspended Police Officer is not deprived from his legal privileges.

() A suspended Police Officer shall be subject to the control of his authorities.
Answer Options :

(1)  Only (b) (2) Only ()

(3) Only (a) and (c) (4) None of the above
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65. W =8 dfem 1860 TS THo1 _ _nel Frereue Hefua st we o
3,
(1) W IX (2) WU IX A (3) T X (4) W XI A
Under chapter of the Indian Penal Code 1860, the provision of offences relating
to election are given. ,
(1) Chapter IX (2) Chapter IXA (3) Chapter X (4) Chapter XI A

66. YA €3 Tiean 1860 THN WIS PoR/Fort e/ faem slag /a2
(a) IO AR SISITE] g91d GrREe Hidl Adl. ‘
(b) FER T P TIRHK SRR S91d STEs FT 99 e
() HeAreTal frem wRifasrad=al SamEmR FEfia oTe.

e S

(1) R (b) (2) W (o) (3) T (b) I () (4) K (a)
According to Indian Penal Code 1860 which one of the following statement/s is/are not
correct ?

(a) Claim of Juvenility may be raised before any court.

(b) Claim of Juvenility may not be raised after final disposal of the case.

(c) Mcnaughten rule deals with plea of insanity.

Answer Options :

(1) Only (b) (2) Only () (3) Only (b)and (¢) (4) Only (a)

67. WA 38 Gigar 1860 7 Ted Afaary GRS JUoeT] UEl S5 qEiEugrel
(1) Fo9 268 (2) %HeH 270 (3) & 279 (4) FEH 294 A

of the Indian Penal Code 1860 provides for offence of malignant act likely to
spread infection of disease dangerous to life.

(1) Section 268 (2) Section 270 (3) Section 279 (4) Section 294 A

68. TERIY G HfufTEm, 1951 U4ie FoH 2(4) AHle AARE=T SN AR vafg fEE

(1) dS e (2) sgH

(3) e (4) =9 ST

As per the definition in Section 2(4) of the Maharashtra Police Act, 1951 choose the correct
option : _

(1) Constable (2) Commissioner

(3) Superintendent (4) Deputy Commissioner
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69. WHDIER! S R/ aieT s/emRe ? -

(a) TN sAfaxen fohen Hiewar SR SUHAET vaT ISaar 3.
by v fowht T Sfse swea Fmiv @ JuR T=n
(c) i 2 fohan AT A9 Afader YT T gehdr AR T,

Wﬁ\'%ﬂ’!‘: _
(1) T (a) (2) e (b)
(3) R (b) M (c) (4) ¥ @), (b), (<)

Which one of the following statement/s is/are correct ?
(@) Person shall fly a kite so as to alarm to horses or persons,
(b) No person shall commit nuisance at Public Places.
(c) No person shall smoke or spit at Police Station or Court.

Answer Options :

(1)  Only (a) (2)  Only (b)
(3) Only (b) and (c} (4) Al (@), (b), ()
70. G gE Hiedl 1860 AHIS HEZ P Yefehton &Tcll Jieeruare] HTehres =T SToRTersi
e feoed o
1y =8 172 (2) o8 177 (3) *oH 180 (4) oH 189
The _____ of the Indian Penal Code 1860 provides for offence of threat of injury to

public servant.

(1) Section 172 (2) Section 177  (3) Section 180  (4) Section 189

Z1.

TR U Sfutan, 1951 w09 14(1) 39 (Fdasren Soften e < F4 Sofram)

el e srftrRrmy, e 390 SeaHR St A AT Fowl TATHI
T GHITS <941 i,
1y 1 (2) 1I (3) 1 (4) I

According to Section 14(1) of Maharashtra Police Act, 1951 Every Police Officer
(of the grade of Inspector or below), shall on appointment receive a certificate in form
provided in schedule

1 IV @ 0 @) 1 (4) 1

o HIHTATE WA /SPACE FOR ROUGH WORK
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TG <2 WiEaT 1860 THR WOASTa Hum! = g ' STaiRen’ ! =1 T Yo e ?
(a) TR FRoaE FagmEf 0.
(b) PIEHIYE er HgHI €.

() TRIThS Soiteryeiar e Tl
Wﬁﬂ'?ﬁﬁ':

(1) T (a) N (b) (2) & (b) @) R () 4 T (a)

According to Indian Penal Code 1860 which one of the following is not ingredients of the
offence of an “abetment” ?

(a) Instigation to commit an offence.

(b) Engagement in criminal conspiracy.

(c) Negligence towards the offence.

Answer Options :

(1) Only (@and(®)  (2) Only(b) (3) Only (0 (4) Only (a)

73.

WESHH! v Sien Havid Seifuerl AHiamhiher STeare g Mol ?
(a) UEA T foEy

(b) ~HEE e

() FARSE™ fa=

wate 3 :

(1) T (a) (2) I (a) S (b)
(3) W (b) = () 4) ¥ (a), ®), (©)

On which of the following grounds, Magistrate may require a report from
Superintendent ?

(a) Prevention of habitual offenders
(b) Regulation of Assemblies
() Regulation of Amusements

Answer Options :
(1} Only (a) (2)  Only (a) and (b)
(3) Only (b} and (c) 4) All(a), (b), (9)
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74. YR g€ Higdl 1860 TOR @A@yE! Hivn faum, faum g smy/ asq ?
(a) ““HUSqUT”’ B wEE TR AR,
(b) FUSIIR TR TIEO TR IR,
(c) THILYUH & HEA W TR R

At S :

(1) I (a) (2) WH ()

(3) I (b) (4) W (b) 3 (c)

According to Indian Penal Code 1860 which one of the following statement/s is/are
incorrect ?

(a) “Fraud” in itself is an offence.

(b) Fraudulent concealment of property is an offence.

() Fraudulently going through marriage ceremony is an offence.
Answer Options :

(1)  Only (a) (2} Only (o)
(3} Only (b) (4) Only {b) and {¢)
75. HRAHY 3 GiEdl 1860 WYl AIQYRl STqEEI AN e o ;
W G
(a) 80 () FESIR Ft FRAET FIET
(b) 84 (i) WHIfowe = Sl
) 95 (iii)  TTIEN I HOR Fefl
d) 97 (v) YRR T grodeEl WS S99 HOIE! 596
gafaEt 39

(@ (b) () (d)
(1) @ @ @ @)
() () (i) @) (1v)
(3 @ @) @) (iv)
(4) (v) (@) @ (@)
Match the following regarding general exception under Indian Penal Code 1860.

Section Provision
(a) 80 (i)  Accident in doing a lawful act
(b) 84 (i)  Act of person of unsound mind
(c) 95 (ili) Act causing slight harm
(d) 97 (iv) Right of private defence of the body and of property

Answer Options :

(@ () © (d
) ) @ @) (iv)
(@) G @) @ ()
3 O G) G (i)
(4 vy (i) @ (i)

HoAT FHIWEIS AT /SPACE FOR ROUGH WORK
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76, UISHI= WAGIH! DI Hdte! IS Dl FUrd 2
(a) 9T EROGfETE TEREn fSEn waw FI.
(b) Hu SMEREe e fieza.

() e s datwE 9@ w0,

it 3ev
(1) T (b) (2) H (o)
(3) T (b) MM () @ ¥ (@) b)(©

Which one of the following acts of Police Officer is/are called vexatious ?
(a) Eniry in any place without reasonable cause.

() Unnecessary seizure of property.

(c) Offering personal violence to a person in his custody.

Answer Options :

(1) Only (b) (2) Only (¢

(3) Only (b) and (c) () Al ), (B), ©

77. WO HE [SHOTaT Hadq Fowna AR e o790 fEwm o

(a) WERSHE feror (b) STHETE SN () w fapmor
FhSURT HITT FHEC HR/T ?

(1} W (a) (2) T (c)

@) R (a) A (c) (4 4@, ) ©

The police shall have free access to every such place of

(a) Amusement (by Assembly (c) Meeting
Which one of above is/are correct ?

(1) Only (a) (2} Only (c)

(3) Both (a) and (c) (4)  All (a), (b), (c)
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78. I e &
forar=t Rrgia e
(a) Yeard fagla (i) fEg =mw=
(b) vERTATE fogid (i) SSTEe gEEH
(c) gfqar= fagia (iii) Tofrmmrs gE@E
(d) guromEr fagid (iv) STREER gemH
it 3y
(@ () (o (@)
(H O ) (v) ()
(2) @) @) @ (v
() (v) () @ (i)
@) (v O @) i
Match the pairs :
Theories of Punishment Approaches
{a) Retributive Theory (i) Hindu Jurisprudence
(b) Expiatory Theory (i) Punitive Approach
(c) Deterrent Theory (iii) Therapeutic Approach
(d) Reformative Theory (iv) Utilitarian Approach
Answer Options :
@ B ()
® O @ G @
@ ) @ @ @
@) (v) () @O ()
@ (v @ G (i)
79. Tl G5 BT 1860 THR T T SN W) HoR P, e S s

317 ?

(a) PRI THE PR A9 afviel IS H W qUARES [ahra 56 T/ Qe
U U,

(b) UTHIE FESTA! YARINA SEAUSS WU I ATl

(c) TERT THRN d SREE TARES NIt T4 18w 7 WSl Sias For.

gt 3t

(1) W (a) (2 % (o) (@) (@) () 4) T (@ b))

Which one of the following statement/s is/are correct in the light of term “document”

under IPC 1860 ?

(a) Any matter described upon any substance to be used as an evidence is a document.

{t) A cheque upon a Banker is not a document.

(¢) A map or plan to be used as evidence is a document.

Answer Options :
(1) Only (a) (2) Only (¢) (3) Only (a) and (c) (4) All(a), (b), (0

FSHT HIWTETE 9 /SPACE FOR ROUGH WORK
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80. Terry W ifufam, 1951 Wi sty 9 fa=m STgHTR WM o,

A TR
(a) 108 () wdaf e i 9o woi gfve .
(b) 110 (i) ORRITER T T HA,
() 122 (i) wmawmmwmm@@.
(d) 123 (iv) WITRRETET 95 S,
it I

(@ ® (0
o O G @) )
2 @ O @) (i
@) @) @) (@) @
@ (v) () @ @)
Match the following regarding offences and punishment under the Maharashtra Police

Act, 1951.
Section Provision
{a) 108 (i) Defiling water in public wells etc.
() 110 ' (i) Behaving indecently in public
() 122 (iii) Being found under suspicious circumstances between
sunset and sunrise “
(dy 123 (iv) Carrying weapon without authority

Answer Options :

@ O © @
@ O 6@ ) G
@ @ O @) (i)
@ Gi) v @ 6
@ v @@ @O )
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81. ISR wfwar Hfgd 1973 =0 Fo4 41 =4 Wfed aHEm T-TR™ HaT 312F i 3 ?
(1) g STRETET TRy S W
(2) Ifoehl ST STRIEaEA
() TETH T TS T
(4) SdEFYETS WS o oEEE
According to Section 41 of the Criminal Procedure Code, 1973 when can police arrest a
person without warrant ?
{1} On the orders of the Police Commissioner
(2) On the orders of the Municipal Commissioner

(3) [If it is a cognizable offence
(4) On the basis of a article published in the newspaper

§2. SIS @ET
(a) HeHYY STHH () ufeet A=t
(b) W TEw (i) @ie framE sew
(c) TESH = (iii) STTHET v

(d) AT fohe STSTHAIS T (iv) W¥H T ARRSTHH
gafdt 36T ;
@ () () (d)
(1) () (@) (@v) ()
(2) @) @ @i ()
(3) (@) (v) ) ()
(4) (i) @) (dv) (i)
Match the following :

{a) Anticipatory Bail {i)  Tirst Schedule
(b) Summary Trial (i) Arrest Without Warrant
(c) Cognizable Offence (i) Apprehension of Arrest

(d) Bailable or non-bailable Offence (iv) Judicial Magistrate First Class
Answer options :

(@ (b) © @
@ @O (i) Gv) (1)
2 @) @ @G (iv)
(@ @) Gv) @@ @
@ @ @ v ©

=

—

FoE TS ST /SPACE FOR ROUGH WORK
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83. ARy S frae
PR Wira GRTTOR (5 Feos aie i SremHad duen 37w ?
(a) UH o
(b) W=
(©) ¥R FeS e @ wRiwe T eivdd
(d) = iweEsTE B
i Iy
(1) T (a) (2) = (b) (3) P (d) @) (o) = (d)
Choose the correct answer

According to CrPC, what is the duration for which warrant issued remains in

force ?
(a) One year
(b) Five vears

(c) Untill it is cancelled by the court which issued it.
(d) Undll it is executed

Answer options :
(1} (@) only (2) (b)only (3) (d)only 4) (c) and (d)

84. HISRN Wisear i, 1973 =0 FEF 125 T3 HIvTe faty s fieg e ?
(1) ===FI=R, Ta:= frafe Foam qaed sEed ga.
(2) oA, W9 fale S e STHee SN 7 SHE SN doh
(3) N, Wa: 9 frafe wvam oawd sTaee 9€ie fhar ong
4y oo wTd

As per section 125 Criminal Procedure Code 1973, who are entitled to get maintenance
allowance ?

(1) Person’s wife who is unable to maintain herself.

(2) Person’s legitimate or illegitimate minor child, who is unable to maintain itself.

(3) Person's father or mother, who is unable to maintain himself or herself.

{4) All of the above

HoAT S ST /SPACE FOR ROUGH WORK
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85. I TN&i I TSI IV Hosil-=r [RIRIS as A4 3] AT S qaigwa ar
TR g FaH ey THat ?
(1) o4 50 (2) oW 52 (3) & 53-A (4) @eH 54
According to which section of the Indian Evidence Act, the evidence of character or previous
sexual experience of victim is not relevant ?
{1) Section 50 {2) Section 52 (3) Section 53 A (4) Section 54
86. Ui faumiar Wi et qual HEendeHq faa] &

(a) UGN AT GE S TR SIS T Al SEIS el miad Far 49 wehdre.
(b) IS ST BUfa A STHAl, T T A A @,

arg S frae.

(1) (a) IR 3T (b) TH e

(2)  (a) T ST (b) T A,

(3)  (a) Mt (b) 22 Faum sl amea.

4)  (a) 301 (b) S faum 9% aeq.

Think about the following statements in relation to Indian Evidence Act.

(a) Signature or handwriting of any person may be proved in the court without sending
it to the Expert.

(b) There is a fixed format of taking “dying declaration” and it should be taken in that
format only. :

Choose the correct answer.

{1) (a) is correct and {b) is wrong.

(2) (a)is wrong and (b) is correct.

(3) (a) and (b) both the statements are correct.

(4) (a) and (b) both the statements are wrong.

HEAT HINEES AT /SPACE FOR ROUGH WORK
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87. TEio faumie=n faer = |
(a) TR Whmar Wean 1973 <1 ! STeg IR T g FYol YRR o 2.
(b) R T A 1872#m@ﬂmﬁtm#wi R @I, B
g W fAael
(1) Tas (@) 3 ST (b) TR ST,
) A (a) TR G (b) F AR
(3) (a) 3N (b) S T e e,
(4) (a) SN (b) Y Faum s T,
Think about the following statements :

(@) Criminal Procedure Code 1973 extends to whole of India except the state of Jammu
and Kashmir.

(b) The Indian Evidence Act 1872, applies to the whole of India including the state of
Jammu and Kashmir,

Choose the correct answer :

(1) . (a) is wrong (b} is correct.

(2) (a) is correct (b) is wrong.

(3) Both the statements (a) and (b) are wrong.
(4) Both the statements (a) and (b) are correct.

88. PV WHd Tfg0=y SV HoHEe! feg SEIERI el ATUHR == T Hmiea
3, HITTE! FrREoETd T8 BT0Ar Wiy F@ wehal ?

(1) &o9 149 (2) O 144 A
(3) HIH 144 (1) 4) FSY 152 A

Under which Section of CrPC, the District Magistrate can prohibit the carrying of arms in
any procession in any area within the local limits of his jurisdiction ?

(1)  Section - 149 (2) Section - 144 A
(3) Section - 144 (1) (4) Section - 152 A

HoAT TG T /SPACE FOR ROUGH WORK
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89. WA Wall T FENATI T Fow FA T I H-Iw ST 2
(1) 9oE FTYFEER AT gmat G foe s,
(2) FHITSH IS AfuFFIEHR TTEEe o HeieEmn,
(3) e wf-=wnd srHar oo FaceEmE.
(4) =ieEE
Which of the following type of confession is unacceptable by the court, according to
Evidence Act ?
(1) Confession made to a police officer by accused under threat.
(2) Confession made by a lower grade person to senior officer under pressure.
(3) Confession given in presence of police.
(4)  All of the above
90. TEITUHI HIVIAT FIEGEIE WG &N JUEr FEET O] B TG ?

(1) oo =t wefamE (2) TF ARSI FEEE
(3) ARl YRS FHEAE (@) TlSUw T
To which of the following proceedings the Indian Evidence Act does not apply ?

(1) Proceedings of the District Court {2) Proceedings of the Session Court

(3) Proceedings before an Arbitrator (4) None of the above

AT WIS S /SPACE FOR ROUGH WORK




A 43 ' H13

91. hIvER! Yhwar Witden Hawiq Wiehe faur fa=ma = g 9ng 3o fasr
(a) fordw =ma Seifued snftn fordr sprdarl <eifierrdl o ww=erell w0 anga.
(b) T HF TS A AY TROHRAS FRia! e THew fohar 2 auiien sra fen 149,
(1) U (a) T S (b) T . (2) () Faur T R (b) Favm st e,
(3) (a) S (b) I UM TR A, (4) (o) T (b) <. Faum g% wea.
Think about the following statements in relation to Criminal Procedure Code and choose
correct answer.

(a) Special judicial magistrate and special executive magistrate are synomenous terms.

(b) Sumon’s case means where punishment for an offence is capital punishment or life
imprisonment or punishment for more than 2 years is there.

Choose the correct answer.
(1) (a}is correct and (b) is wrong.  (2) (a) is wrong and (b) is correct.
(3) Both (a) and (b} are correct. (4) Both (a) and (b} are wrong.

92. T I e

R RIS HEE STl SFHSUE! AT SN, 3T 9 e W T BeE Wishar Higd
Tefie TIEER TESUHT Il ThreaT SRGH sifiemeR 9 3 2
(a) 16 TEIU&T Hu} FE=N ARG

(b) PIUTATE! SATE T

(c) RIIHE START 319 gaied Al

it IaY

(1) K (a) (2)  (a) 1 ()
(3)  (b) 37 (<) (4) et e

Choose the correct answer :

Under the provisions of Criminal Procedure Code when any offence which is punishable

by death or life Imprisonment is committed then also, who may be released on bail from
the following persons ?

(@) Person under the age of 16 years

(b) A woman of any age

()  Any sick or infirm person

Answer options :

1) only @) (2) (a) and (©)

(3) (b} and (c) (4) All of the above

HoAT HWHG! WA /SPACE FOR ROUGH WORK
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93. VRAT el [UE SEET e gHY RIS Sivel quel @ Fuige quen 9ol s ?
(a) DNA Togrt feee g
(b) Fufss T T
(c) SII= S8 oy degre qaaE
(d) F SGFMA e THHA Fa hoes 99

g S a1
(1)  (b) 31T (d) : ) (a) 30T ()
(3) Flredw! A ¢) o wd fulas [ e

Which of the following evidence is conclusive evidence according to the provisions of
Indian Evidence Act ?

(a) Evidence of DNA Expert

(b) Opinion of Medical Expert

(c) Evidence of fingerprint Expert '

{d) Opinion expressed in text-book by specialist author

Choose the correct answer.

(1) (b) and (d) () (a) and (0

(3) None of the above (4) Al are conclusive evidence

94. WAA el TUST HEU HeHid SiS ol
(A) {B)
(a) BETATE RS () TEIR WS TES
(b) EEa TETH (i) fomae g
(c) Te=aTESH EAH (iii) TER Go wHA
ﬂ'ﬂ"'ﬂ"rﬁ% §
(a) (b) (¢)
@ @) @)
(2) i) (@) (i)
(3) ) @G) @)
4y @ (i) (i)
In relation to Indian evidence Act match the following.
{A) (B)
(a) Rebuttable Presumption (i)  Shall presume
(b) Irrebuttable Presumption (i) Conclusive proof

(c) Presumption of facts (it} May presume
Answer Options :
a) (b) (o

M O D) @)
2) @) @ (i)
@ (@) @) @)

4 @ @) (D

AT HIWES 9RT /SPACE FOR ROUGH WORK
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95. WA Waft TUaT FEESHAI WAGIH HITE ST HIET-1h eaqas e ?
(1) % THR R T WHR T T FSS Fae.
(2) WHH [N FES N A= WS
() IEE TS e e,
(4) T AT AL 7 FoR G

Which of the following documents is not public document according to Indian Evidence
Act?

(1) Documents forming the acts passed by Central or State Government.

(2) Laws/Acts or records of the acts of a foreign country.

(3) Returns filed with Income Tax Department.

(4) Unregistered will of a private person.

96. T HFT=AT SATEHON F20 THe | o T\ T S e 9 I,
1) 12=d (2) 10 @) 7= (4) 3=
The law presumes a person as dead if a person has not been heard of for

(1) 12 years (2) 10 years (3) 7 years (4) 3years

97. WRAE W& [ FRE FH 91 TAR SRl HTH I ATYHH RUH @ ATEH F0
TR 3 T RO AT S s ARl U aen oM ST See arafavar A Jeg SR
W T FS A S FE i

1) Tos wa orm (2) HeTYd TEA
() RN e S A @) Tag wvar e e

According to section 91 of the Indian Evidence Act when a public officer is required by

law to be appointed in writing, and when it is shown that any particular person has acted
as such officer, the writing by which he is appointed ?

(1) needs to be proved (2) isirrelevant

(3) is not presumed (4) need not be proved

FHoAT HMTETS ST /SPACE FOR ROUGH WORK
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98. YeIe faumi=t weierht fswan wfeat 1973 = devia faar w1

(a) Szt s <ar Fqn.

(b) THS IR SAqTETE TRAT fehal WRATETRT HISE I A,

g 3w fHaer -

(1) () Fum =0 o (b) O M. (2)  (b) Forerm e 7 (a) F S

()  (a) ST (b) A I A (4)  (a) 3T (b) T T A

Think about the following statements in relation to Criminal Procedure Code 1973.

(a) Surety may be provided for the warrant.

(b)  Arrest warrant may be executed anywhere in or outside India.
Choose the correct answer :

(1) (a) is correct {b) is wrong. (2) (b) is correct (a) is wrong,

(3) Both (a) and (b) are wrong,. (4) Both (a) and (b) are correct.

99, gl Uy YURT UG € TAT=A] FHeA AYhING Gyl Faftd T8 degl € Ihe
LTAEE WA A ST O 123 THR RO WEEET TS T ?

(1) T=arE et (2 T TS

(3) T T (4) wfe favm wgE

When any evidence derived from unpublished official records relating to any affairs of
state, is to be given, then to give such evidence whose permission is required as per section
123 of the Indian Evidence Act ?

(1) Chief Minister of the state {2) Governor of the state

(3) Home Minister of the state (4) Head of the concerned department

oA HIHEE J /SPACE FOR ROUGH WORK
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100. I SiEeR@Ee wfdren FRreRdiae 2013 HE Beer Fishar Hieda gurom
FIGT 3T,
() v qE. g 2) = 9. . 9t
(3) AT A (4) a5 S

The code of criminal procedure was amended in 2013 on the recommendations of the
Committee headed by

(1)  Justice P.B. Sawant (2}  Justice ].S. Verma
(3) Justice Srikrishna (4) Justice Ranjana Desai
-00o0-
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T — (7% 1 967 q4.... )

8) weiRawasd fafgm Fown fafime Srite w9 F (6 99) F0d. TgRedefifiE SeetRa a
T HIEEL F FH FAH § HIA S04 YA HS IR, 98 AHS TESG § THR IHEaHET
WA S e aigias o TRyERAT Wiasy TRy Huam-82'" 6o WEETHR FRaR
FOA 455 9 A AN FHG TF TN FREEE S0/ fHa T8 UF TR e st feE
= 2w

(9) TR TEHAE AAMH 6feq SO0 d@ HIea IHEAN € IR T e TRt
VI WA TEAW . UTA GRGT FHETHIRT AU SHTARN Il AR WHT-1
AUAYETHS 7 Faurar WA & Javaes A

W FHF

W, sh. 201.

AT 99
201, HAE =0 T OGR! FON TOSA: T hos ?
(1) T AR WEEedl ) IvEEs foamEnR
(3) TN TEEEA U (4  dirTEE e
&1 U g IR (3) TS THERT A9 SR AR, e A1 W W @) i I
WIATHA! 77 F. 201 Fe J-Fae ()" ¥ age T e Fe qrafad ARws
R ,
ONON MO,
YN TEAR W THAYRAF® TeoE YY1 ] SOGhHIS 81 gRren waeiedl g

IS @ ™ FERAREENE Hufia age qufatt SEifed w8 qEdE.  ghier
T FHAT TRA SioaT A, s o e 9 aiee 4.
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